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(For the candidates admitted from 2008-2009 onwards)

B.Com./B.Com. (CA) DEGREE EXAMINATION,
APRIL/MAY 2018. ’

Fifth Semester
COST ACCOUNTING
Time : Three hours _ ‘Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. What is fixed cost?

Blenewimen Qgae, eTeimimed cree?
2. What do you mean by cost sheet?

L &seillane LILIqLI6 eTenmmed erevma GLIm(mHeT?
3.  What do you mean by Bin Card?

“Quilw iLen” erempmed eretren QLIM(BHET?

4.  Expand FIFO and LIFO.
eflfleungaid Gewis FIFO wpmn LIFO.



10.

11.

What is Idle Time?

afemrman CHyLD GremmTed 6Tenen?
Write Halsey Plan formﬁla.
aprerCe 1Germen GSHTEMS T(LSIS.
Define “Overhead”.

“Cunlswe]” — euanruim.

How to calculate Labour hour Rate?

ueflurert  wenfl  Cpy  eadlusms

sanT&d) (Heumi?

What is Normal Loss?

SMSTIERT BL_L LD GTETMTE) GTEIIE0?
What are By-products?

glanentil QUIMHL&ET GTEMMTE) GTeume?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Discuss the various elements of cost.

GreueuTm)

SLsaHen LOCeum sFmmsamer elleurdlés.

Or

() Prepare a cost sheet from the following

details.
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12,

(@)

Rs.
Direct materials 50,000
Direct Labour 15,000
Factory Expenses 5,000
Office Expenses ~ 2,000
Selling Expenses 1,000

Spaupuamears  Qaramr® L&s  ellee
uligwene swmflés.

€.
Crg. epeoiumr@mer 50,000
Cprig. gned 15,000
2 pussH Qeeve] 5,000
SiQeus Fwey 2,000
ellpuener CFae] 1,000

A factory requires 1500 units of an item per
month, each costing Rs. 27/- The cost per
order is Rs. 150 and the inventory carrying
charges worked out to 20% of the average
Inventory. Find out Economic Order

~ Quantity.
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i 13. (a) ‘What are the causes of Idle Time?
e® Gsmfipsroeudsd em wissdbde 1500
Siw@ser @eaubeuremmid m. 27/- eisb Csamau.
Q1 HLM6U FT&E eUMEIS 2 5576 (. 150 whmib
g6 Qanam® CeoeusneE 20% symef srsdle

elanten GBrSE e STyeRThISET Wmeneu?

<@L,  feser  Gametpsed  jeredlenar o
san (g &e. (b) Calculate the earnings of a worker under
o | Halsey Premium plan.
(b) Prepare Stores Ledger account under FIFO Time allowed 48 Hours
_ method. A Time taken 40 Hours
Date Receipts Rate Issue
(units) (per unit Rs.) (units) Bate e hou i
4.10.2016 300 2.40 - : aorGs  wapliuy @@ Asmflaraflulen
5102016 - - 200 O i
10.10.2016 200 2.30 ’ , et sl
igie.2006" - - = 100 . TOSsIEAsTaTL Cpyib 40 wanflsr
“wpseller aumLIME @g,e&eﬁ ey’ sigliuenuie v @ wewtl Criy gned em. 10/ '
#16@ CuCTLQ® &/ @ swurilés.
Gsd eurey adlenen ety 14. (a) Give examples of selling and Distribution
(SoEs) (96 INGH) (Swesd) | i |
4.10.2016 300 2.40 . elpuerar wpmd SeEliLsd CupAswaiseia
5.10.2016 - - 200 2 GNERTRISET Fn D).
10.10.2016 200 2.30 —
12.10.2016 - E 100 -
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(b) Calculate the machine hour rate for Machine
“A” from the following data.

Cost of the machine Rs. 16,000
Estimated Scrap value Rs. 1,000
Effective working Life 10,000 hours

Running time per four weekly period
160 hours

Average of repairs and maintenance
charges four hour weekly period —
Rs. 120

Standing charges allocated to machine
four hour weekly period — Rs. 40

Power used by the machine 4 units per
hour at a cost of 5 paise per hour

Qupdlmd  “‘orelageLw  Qupdly  wenll  Cpy
sarflwsang St GFis.

Quipdrsdlen 2iL&a ellene em. 16,000

Biremruféas i L @y@eﬁmd@. 1,000

dnarwwing Geuame LMTEEL &meowd 10,000 wenfl Cpiid

preE ey srew @B Cryid 160 wenfl Chiyd

BIeN (@ eumy &mev Lipgiuniiy Ggewey ep. 120

Quipdlmbd “o” e prenE ey sre Hlepewimer sL_Lawrid e 40

@ waféE 4 @ Waremmbd 2 LCWTSLLESSILLg). elaa
@ wenfld@ 0.05 et
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15. (a) What are the disadvantages of Process

Costing?

LIG(PED SILGESS 6 SMLOEET Wmeneu?

Wages
Overheads
Normal loss

Output

Or

(b) Prepare process account from the following
materials issued 1000 kg @ Rs. 125

Rs. 28,000
Rs. 8,000
5% of input

900 kgs.

Spsar urmsellalBbg L p@nss Samsdlamar

swimt Q&s.

epeolI@uT(HLger
1. 125/—

el -
Gun@sewaeyser
Quieouimer BLL LD

Qo Qumper

Qaiafl§® 1000 &Gem ety

. 28,000
5. 8,000
5% o 1 QUL safc

1900 &Car
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16.

SECTION C — (3 x 10 = 30 marks)

1

Answer any THREE questions.

Prépare a cost sheet and show the profit :
Raw materials consumed Rs. 15,000

Direct wages Rs. 9,000 18.

Machine hours worked 900 hours

Machine Hour Rate Rs. 5

Administration overheads 20% on work cost.
Selling overheads 0.50 ps per unit.

Units produced 18,000

Units sold 17,100 at Rs. 4/- per unit

9L sgedlemeL
SaTSHS (H.
epeliQurmer 2 uCurstiu@sws . 15,000

ulqwe  surfssy Qerussaar

Criyigd g6l . 9,000

Qupdib Cauama Qeiig Cryid 900 wenflsar
QuipdrsSer @@ wafl Gy el . 5

Bireurs Qeae) Agminsrame oL ssailamauien
20%

Apuear Qeavey e Si@&nE 0.50 evuist

2 pusd Qe L Se@ser 18,000
Mpuemer Qelwiul L e@ser 17,100 genm
. 4/- eisbd .
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What do you understand by FIFO methods? What
are its merits and demerits?

‘Pelled  aumuemes sl eflliug” e
QuImmeT WTgI? e HaanLd, SEHLOGET WTeneu?

From the following data calculate the earnings per

hour under the (a) Halsey and’ (b) Rowan
Schemes.

Time allowed for Job : 5 hours
Time taken : 4 hours
Rate per hour : Rs. 8/-

Compare the earnings per hour when the time
taken is (i) 4 hours (ii) 3 hours and (iii) 2 hours.

Spanamib elurtisefier Ly e wef Cpr cadlugans

(1) apmeGs O () Crreumen HiLsHe
sewr(H191q & ,
@ Caumeemws Qg 5 warflser
Sigindlsaiiul L Cryb
T05316 Qaram Cryb : 4 werflser
@ wenfl Gy gaed : em. 8/

@ wenfl Gy aﬁ@u‘émg Spasareurn @Uii® Qsiw
Thsg18 Qamenr_ Cryd (1) 4 arflser (i) 3 wewflser
(ii1) 2 wesflser
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19. The following particulars relate to ~a
manufacturing company which has three
production departments A, B and C and two
service departments X and Y.

A B C X ¥
Rs. Rs. Rs. Rs. Rs.
Total overhead
Exp. as per primary 6,300 7,400 2,800 4,500 2000

The company decided to charge the service
departments cost on the basis of the following :

Service Depts. Production Service Dept.
Allgung ey Y
X 40% 30% 20% -— 10%
i 30% 30% 20% — -

Show clearly as how the expenses of X and Y

departments would be apportioned to the ABC
departments. ‘

@m Osminsreaeauia A, B, C erargd eper amug,g%]
siops@Esd, X wigd Y eagn @ran® Gsmas
EIEODS@EHLD 2 GTeTa.

PSETEDLOWITET A B C X ¥
@y dewayser - - - . .

Qurégnd 6,300 7,400 2,800 4,500 2,000

“emeu(momm :
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Ceameupgienpuilen Geswaisar Spsar_oimy Gsss

QarRéstu@&pg.
Ceeneuggienm 2 pusdl sleop  Caaneus giewp
TS S L G
X 40% 30% 20% — 10%
Y 30% 30% 20% — -

X Lprj)gub Y giopier Qseoayser er@amgu A, By C
gops@rsE WNsss QsrssiulLg aums
elleurong smms. £

20. Make out the necessary accounts from the
following details.

Process Process Process

oo B C
Rs. Rs. Rs.
Materials & Wages ; 30,400 12,000 29,250
Works overhead 5,600 5,250 6,000
Production (in units) 36,000 37,500 48,000
Stock (in units) 1st April - 4,000 | 16,500
Stock (in units) 30th April = 1,000 5,500

11 S.No. 1478



